ANOHE#H (Fp26E18XKRE)

(&%) A _ g o= om
8 z &t

16,344 A\ 17,161 A 33,505 A 15,285t &

(W) 5 A . _ Bow %

) 6,110A 6,241 A 12,351 A 5,975t
EEEm 3,764 A 4,038 A 7,802\ 3,292t
= X HT 1,753 A 1,844 A 3,597 A 1,5501H
BT 1,076 A 1,157 A 2,233 A 1,009t

IR 1,655\ 1,760\ 3,415A 1,5691H
it 5 BT 1,986 A 2,121 A 4,107 A 1,890t




No.1

T R &ZX 5 1k A #

AOEHH CER2651 A KRR RIGEX BT
A H _ Bow %
8 £°8 Hi
16,344 A\ 17,161 N 33,505 A 15,2851 &
MRAMAL-EHFEH ( HKRET )
o g | ala WX % | ala
C2 z &t 5 z &

HH 158 149 140 289 | 2B AT 17 16 21 37
INE 318 381 392 773 |ALL 39 48 45 93
S 123 125 136 261 |BkR 11 6 11 17
FAIZE 113 117 109 226 | =B AT 71 53 72 125
IR 545 490 383 873 | ZE%FRHT 213 223 220 443
=24 466 488 457 945 | 2 FxRHT 119 104 124 228
= 288 302 329 631 |i%% 81 66 70 136
KiEX 152 139 170 309 | = E%# 25 36 34 70
HrAt 128 107 124 231 ({784 28 42 40 82
SE#H 254 225 256 481 |Bal3E 101 133 137 270
25 354 265 348 613 |/VEH 60 86 82 168
KXF1E 206 194 218 412 /MR HE 32 40 44 84
B 234 201 242 443 | TR 63 63 77 140
AHE 192 153 175 328 |lK& 44 51 51 102
AHEEE 100 101 104 205 | B #t 18 19 22 41
AH 472 611 535 1,146 | £l 19 26 32 58
BHF 465 551 552 1,103 [#4R 23 31 27 58
Yz H 32 35 25 60 HEARIE 10 14 10 24
=95 26 28 24 52 |HEAR 53 55 75 130
g 65 60 19 79 | £#7 36 32 46 78
A 61 52 70 122 | AREE 57 67 70 137
5 Rk 50 59 52 111 |ARE 53 66 71 137
MGt 5,975 AO%t 12,351 [ AO(EB)| 6,110 | AO(XK)| 6,241




No.2

MRAACO-HFER ( KZSHE )

N AO
W X & | HER X & | HER
5 xz & 2 z B

BERR 24 24 30 54 |B/iE 38 45 54 99
L DETE— 155 175 203 378 |B# 24 26 28 54
roRTE= 147 177 188 365 [1TE 126 132 136 268
HRIEEE 43 7 36 43 |&1l 14 17 16 33
o DET 94 105 107 212 | KR AET 90 103 116 219
ZEANR—L 58 16 42 58 |iFIE 90 120 123 243
A 46 52 52 104 |k 69 84 94 178
ZNET 76 80 101 181 | F#IR 48 61 58 119
e 18 16 21 37 |¥A 46 60 64 124
BOH 34 36 32 68 | AZB{R 64 87 99 186
EDTF 20 16 21 37 | XES 32 44 43 87
HIRE— 173 197 218 415 | KB 61 88 89 177
HEE = 157 186 192 378 | £ 15 18 18 36
Byik 131 150 152 302 | Xl 40 50 55 105
Kk 103 145 123 268 |/Mipitd 70 86 95 181
= 130 164 173 337 |EH 72 74 70 144
FEF= 213 247 248 495 |EA 98 105 115 220
R 120 128 153 281 [;BER 32 44 47 91
M 65 79 91 170 |TRR/E# 50 43 50 93
i 21 30 34 64 |ETRSEH 34 29 29 58
MR I 26 24 23 47 |EF 37 37 36 73
& 38 46 48 94 |HEAFRIE 50 54 48 102
5 81 102 113 215 (BEERES 22 22 16 38
=1 69 102 116 218 |/ B 28 31 22 53
g5t 3,292 AOEt 7,802 [ AB(EB)| 3,764 | AO(X)| 4038




No.3

HMXAAQ-HHH ( SEH ) MRAAO-EHFEH ( EE )
e A0 —a A0

h X & | HEHR P = : h X & | HEH = = :
v 487 537 589 1,126 | |=4B L 77 77 88 165
EEE 20 26 31 57| |=4BTF 145 115 149 264
U U 20 21 22 43| |=RE 69 920 89 179
B fft 13 13 15 28 | &M 21 27 19 46
Ri# 11 21 22 13| |EFE 18 25 19 44
F#Rk 76 67 50 117 | | Kk 19 22 21 43
1w 41 44 44 88 | |7FRE 37 50 44 94
1BiE 49 53 61 14| |E1E 7 5 11 16
RiHH 34 42 45 871 1& 57 67 80 147
N 37 43 35 78 | |48 78 112 110 222
FEE 111 155 160 315 | I£& 304 303 320 623
= 69 86 71 157 | |E2&8 149 147 167 314
I 2 Ui 57 72 81 153 | |k 28 36 40 76
onzx 44 49 48 97 | |ER 1,009 1,076 1,157 2,233
1ER 38 41 42 83

== 18 15 20 35

- )1[:3 37 40 33 73

7K 68 88 87 175

mER 35 30 42 72

FE M 39 49 57 106

ficl| 42 49 56 105

EEHE 20 30 24 54

A#8 45 46 48 94

/N 56 51 57 108

# 15 10 17 27

H 68 75 87 162

= 1,550 1,753 1,844 3,597




No.4

XA ACO-HFEH ( LRET )

HRAIAC-HHEH ( _ExtHRHET

" AR . A0
X & | HER - Hh X & | HEHK .
5 8 H 5 8 H

N A 39 31 31 62 | TN 40 46 58 104
pdiiy) 16 20 15 35| | KA 91 88 87 175
THE 36 41 35 76 | |#5E 130 152 89 241
AR JTHT 31 25 39 64| |2 153 205 184 389
L ET 65 59 61 120 | |R 136 144 176 320
THT 28 30 31 61| |#E:E 81 920 112 202
N EXHET 86 97 109 206 | |5 178 202 212 414
=HE 87 84 88 172 | |tEEBE 419 447 488 935
Kith 40 39 41 80 | |#K 44 48 54 102
mEE 23 20 25 45 | |EH 13 13 12 25
HE 23 6 17 23 | |&%0 4 3 5 8
FE 35 38 44 82 | | Eft& 26 30 34 64
B 55 51 59 110 | IEAZE 36 36 35 71
ZHE/ N 62 63 59 122 | |RZE 49 25 38 63
=11l 8 6 9 15 | | K 44 43 49 92
#F0O 30 24 37 61| [Fiti& 59 56 76 132
A 38 51 55 106 | | H1R#E 26 24 24 48
-3 71 83 82 165 | [K 5 6 3 9
=28 40 33 39 72| |E 125 124 147 271
H/E 8 10 9 19| |ER 52 46 51 97
FR 72 62 54 e | |—= 80 59 78 137
A= 22 25 25 50 | |/NEE 99 99 109 208
{EE 38 60 55 15| | &% 1,890 1,986 2,121 4,107
RTiH 48 64 76 140

RE 105 126 129 255

/1R 22 29 34 63

HEH—X 64 66 76 142

HHR-RX 73 82 80 162

G 91 97 108 205

BER 98 103 98 201

AR 56 66 74 140

& 59 64 66 130

=5 1,569 1,655 1,760 3,415




	町毎人口世帯数
	厳原町
	美津島町
	豊玉町・峰町
	上県町・上対馬町

